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Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 579 72.35| #h st |0.00 ~ 0.00] 158 8.29 ZThLLSE 1.00| 500 ~ 7.00 72.35| #hList | 500 ~ 7.00] 1.58 8.29
9 100kN/mM#%#BZ % 1.00/ 000 ~ 3.08 149.16|3m%#E% 5| 0.00 ~ 0.11| 3.06 16.03| 100kN/m%E# 2z % 1.00| 1053 ~ 2743 149.16|3m%i#B 25| 25.00 ~ 27.43| 3.06 16.03
Zh st 1.00{ 3.08 ~ 10.87 100.00] #h st |0.11 ~ 10.87| 3.00 15.73 Zh LS 1.00|] 500 ~ 10.53 100.00f #hlist | 500 ~ 25.00] 3.00 15.73
3 100kN/mM##8Z % 1.00{0.00 ~ 3.19 150.92|3m#%#E% 5| 0.00 ~ 0.16] 3.09 16.20] 100kN/m%Z# x5 1.00| 10.54 ~ 28.29 150.92|3m%#E% 5| 25.00 ~ 28.29| 3.09 16.20
Zh st 1.00{3.19 ~ 10.97 100.00] Zh st |0.16 ~ 10.97| 3.00 15.73 Zh LS 1.00|] 500 ~ 10.54 100.00| #hlust | 500 ~ 25.00] 3.00 15.73
4 100kN/mM#%# 8% % 1.00{0.00 ~ 3.32 153.24|3m%#B %%/ 000 ~ 0.24] 3.13 16.44| 100kN/m%Z#B 25 1.00| 10.60 ~ 29.66 153.24|3m%#E% 5| 25.00 ~ 29.66| 3.13 16.44
Zh st 1.00{332 ~ 11.10 100.00] #h st 024 ~ 11.10] 3.00 15.73 Zh LS 1.00|] 5.00 ~ 10.60 100.00| #hlist | 500 ~ 25.00] 3.00 15.73
5 100kN/mM#%# 8% % 1.00{0.00 ~ 250 139.21|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 11.03 ~ 27.04 139.21|3m%#BZ% = ~ = = =
Zh st 1.00 250 ~ 10.29 100.00] Zh st | 0.00 ~ 10.29| 2.85 14.95 Zh LS 1.00| 500 ~ 1103 100.00| Zh it | 500 ~ 27.04] 285 14.95
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00[0.00 ~ 457 57.02] #huis 000 ~ 457| 1.89 9.91 Zh LS 1.00|] 500 ~ 500 57.02] #hils | 500 ~ 500| 1.89 9.91
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~ |
=EFR



